(0 @) (rad)

1072kt

Ratio

-2 -1 0 1 2 3
TP n (PCA to beamline)

a(d cot(d))

1072

0.95
-3

-2

I

A
-G

TP n (PCA to beamline)

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime_ RECO

SICEWATL

107" -

1072

o

1 0 2 3
TP n (PCA to beamline)

o p/p.)

,_.
<
L

T T T 111171

-2 -1 0 T2 3
TP n (PCA to beamline)

3 R 3EE

gN

o

e}

107k

1078

: NIk

) . . .
A

09532 T 0 T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


